

## SUNDMAN'S INEQUALITIES IN N-BODY PROBLEMS AND THEIR APPLICATIONS

ZHANG SHIQING

(communicated by R. U. Verma)

*Abstract.* In this paper, we study the necessary and sufficient conditions which make Sundman's inequalities become equalities and the relationships between the period and energy and angular momentum and the momentum of inertia for uniformly rotating planar circular solutions and the straight line solutions of N-body problems with homogeneous potentials.

### 1. The main results

**THEOREM 1.1.** *For the uniformly rotating planar circular T-periodic solutions (for example, those orbits produced by rotating planar central configurations) of N-body problems with homogeneous potentials:*

$$m_i \ddot{q}_i = \frac{\partial U(q)}{\partial q_i}, i = 1, \dots, N \tag{1.1}$$

$$U(q) = U(q_1, \dots, q_N) = \frac{1}{2} \sum_{1 \leq i \neq j \leq N} \frac{m_i m_j}{|q_i - q_j|^\alpha} \tag{1.2}$$

Where  $q_i \in \mathbb{R}^k, \alpha > 0, \alpha \neq 2$ , we have the following relationships:

$$|C| = \frac{\alpha}{2 - \alpha} \frac{1}{\pi} \times (-h)T = \frac{2\pi}{T} I \tag{1.3}$$

$$C^2 = \frac{4\alpha}{2 - \alpha} (-h)I \tag{1.4}$$

where

$$C = \sum_{i=1}^N m_i q_i(t) \times \dot{q}_i(t) \tag{1.5}$$

denotes the angular momentum of systems (1.1)-(1.2) and

$$h = K(q) - U(q) \tag{1.6}$$

*Mathematics subject classification* (2000): 34C25, 34C15, 58F, 70F10.

*Key words and phrases:* N-body problems, period, energy, angular momentum, the momentum of inertia.

Supported by the National Natural Science Foundation of China.

denotes the total energy for (1.1)-(1.2),  
where

$$K = \frac{1}{2} \sum_{i=1}^N m_i |\dot{q}_i|^2 \quad (1.7)$$

denotes the kinetic energy for (1.1)-(1.2),  
where

$$2I = \sum_{i=1}^N m_i |q_i|^2 \quad (1.8)$$

denotes the momentum of inertia for (1.1)-(1.2).

**THEOREM 1.2.** For  $N$ -body problems (1.1)-(1.2), if  $N$  bodies always move on the straight lines toward the center of masses, then we have

$$\ddot{I} - (2 - \alpha) \left| \frac{d(I^{1/2})}{dt} \right|^2 - \alpha h = 0 \quad (1.9)$$

or

$$2r \cdot \ddot{r} + \alpha \dot{r}^2 - \alpha h = 0 \quad (1.10)$$

where

$$r = I^{\frac{1}{2}} \quad (1.11)$$

## 2. Some basic lemmas

**LEMMA 2.1.** (Lagrange-Jacobi identity [2,3,4,5])

$$\ddot{I} = (2 - \alpha)U(q) + 2h = (2 - \alpha)K + \alpha h \quad (2.1)$$

**LEMMA 2.2.** (Sundman's inequality [2,3,4,5,6])

$$C^2 \leq 4IK \quad (2.2)$$

**LEMMA 2.3.** Sundman's inequality (2.2) takes the equality if and only if  $q_i(t)$  ( $i = 1, 2, \dots, N$ ) locates on the same plane and  $q_i(t)$  rotates on the circles with the same instantaneous angular velocity  $\omega$  around the center of masses or all bodies locate at the center of masses forever.

*Proof.*

$$C^2 = \left( \sum_{i=1}^N m_i q_i \times \dot{q}_i \right)^2 \quad (2.3)$$

$$\leq \left( \sum_{i=1}^N |m_i q_i \times \dot{q}_i| \right)^2 \quad (2.4)$$

$$\leq \left[ \sum_{i=1}^N |\sqrt{m_i} q_i| \cdot |\sqrt{m_i} \dot{q}_i| \right] \quad (2.5)$$

$$\leq \left( \sum_{i=1}^N m_i |q_i|^2 \right) \left( \sum_{i=1}^N m_i |\dot{q}_i|^2 \right) \quad (2.6)$$

$$= 4IK. \quad (2.7)$$

The inequality (2.2) takes the equality if and only if inequalities (2.4)-(2.7) take equalities simultaneously, so we have

(1)  $q_1 \times \dot{q}_1, q_2 \times \dot{q}_2, \dots, q_N \times \dot{q}_N$  are parallel to each other and have the same direction.

$$(2) q_i \cdot \dot{q}_i = 0, i = 1, 2, \dots, N.$$

$$(3) \frac{|\dot{q}_1|}{|q_1|} = \dots = \frac{|\dot{q}_N|}{|q_N|} \text{ is a positive number (which may depend on } t \text{) or}$$

$$q_i(t) \equiv 0, (i = 1, \dots, N)$$

That is, the Lemma 2.3 is true.

LEMMA 2.4. (Sundman's inequality [2,3,4,5,6])

$$2 \left( \frac{dI^{1/2}}{dt} \right)^2 \leq \sum_{i=1}^N m_i \dot{q}_i^2 = \sum_{i=1}^N m_i \frac{(q_i \cdot \dot{q}_i)^2}{|q_i|^2} \quad (2.8)$$

LEMMA 2.5. Sundman's inequality (2.8) takes the equality if and only if

$$\dot{q}_i(t) = \lambda_i(t) q_i(t), \quad \lambda_i(t) \leq 0 \text{ or } \lambda_i(t) \geq 0, i = 1, \dots, N \quad (2.9)$$

*Proof.* By the definition of I we have

$$2I^{1/2} \frac{dI^{1/2}}{dt} = \sum_{i=1}^N m_i q_i \cdot \dot{q}_i \quad (2.10)$$

By Cauchy-Schwartz's inequality we have

$$\left( \sum_{i=1}^N m_i q_i \cdot \dot{q}_i \right)^2 \leq \sum_{i=1}^N m_i \dot{q}_i^2 \sum_{i=1}^N m_i q_i^2 = 2I \sum_{i=1}^N m_i \dot{q}_i^2 \quad (2.11)$$

Hence by (2.10) and (2.11) we have

$$2 \left( \frac{dI^{1/2}}{dt} \right)^2 \leq \sum_{i=1}^N m_i \dot{q}_i^2 \quad (2.12)$$

$$= \sum_{i=1}^N m_i \frac{(q_i \cdot \dot{q}_i)^2}{|q_i|^2} \quad (2.13)$$

The inequality (2.8) or (2.13) takes the equality if and only if inequality (2.11) takes the equality, hence we have (2.9)

LEMMA 2.6. (*Sundman's inequality [2,3,4,5,6]*)

$$\frac{2}{2-\alpha}\ddot{I} + \frac{2\alpha}{2-\alpha}(-h) - 2\left(\frac{dI^{1/2}}{dt}\right)^2 \geq \frac{C^2}{2I} \quad (2.14)$$

LEMMA 2.7. *Let  $\lambda_1, \dots, \lambda_i, \dots, \lambda_N \in R; \alpha_1, \dots, \alpha_i, \dots, \alpha_N \in R^K$ , then we have*

(1)  $|\lambda_1\alpha_1 + \dots + \lambda_N\alpha_N|^2 \leq (\lambda_1^2 + \dots + \lambda_N^2) \cdot (\alpha_1^2 + \dots + \alpha_N^2)$ ,

(2) *the above inequality takes the equality if and only if*

$$\lambda_i\alpha_j = \lambda_j\alpha_i, 1 \leq i \neq j \leq N.$$

LEMMA 2.8. *Sundman's inequality (2.14) takes the equality if and only if there holds (2.9).*

*Proof.* By Lemma 2.7 we have

$$C^2 = \left(\sum_{i=1}^N m_i(q_i \times \dot{q}_i)\right)^2 \leq \left(\sum_{i=1}^N m_i|q_i|^2\right) \left(\sum_{i=1}^N \frac{m_i|q_i \times \dot{q}_i|^2}{|q_i|^2}\right) \quad (2.15)$$

Hence we have

$$\frac{C^2}{2I} \leq \sum_{i=1}^N m_i \frac{|q_i \times \dot{q}_i|^2}{|q_i|^2} \quad (2.16)$$

By (2.16) and (2.8) we have

$$2\left(\frac{dI^{1/2}}{dt}\right)^2 + \frac{C^2}{2I} \leq \sum_{i=1}^N \frac{m_i}{|q_i|^2} [(q_i \cdot \dot{q}_i)^2 + |q_i \times \dot{q}_i|^2] \quad (2.17)$$

$$= \sum_{i=1}^N \frac{m_i}{|q_i|^2} [q_i^2 \cdot \dot{q}_i^2] \quad (2.18)$$

$$= \sum_{i=1}^N m_i \dot{q}_i^2 = 2K \quad (2.19)$$

By Lemma 2.1 we have

$$2\left(\frac{dI^{1/2}}{dt}\right)^2 + \frac{C^2}{2I} \leq \frac{2}{2-\alpha}\ddot{I} - \frac{2\alpha h}{2-\alpha} \quad (2.20)$$

The inequality (2.20) or (2.14) takes the equality if and only if inequalities (2.15) and (2.8) take the equalities simultaneously, hence the result is true.

### 3. Jacobi's coordinates and Sundman's inequalities

We introduce the Jacobi's coordinates (For  $N = 3$  see [1]):

$$\begin{aligned}
 x_1 &= q_2 - q_1 \\
 x_2 &= q_3 - \frac{\sum_{j=1}^2 m_j q_j}{M_2} \\
 &\dots \\
 x_i &= q_{i+1} - \frac{\sum_{j=1}^i m_j q_j}{M_i} \\
 &\dots \\
 x_{N-1} &= q_N - \frac{\sum_{j=1}^{N-1} m_j q_j}{M_{N-1}}
 \end{aligned} \tag{3.1}$$

where

$$M_i = \sum_{j=1}^i m_j \tag{3.2}$$

We assume the center of masses  $m_1, \dots, m_N$  is at the origin:

$$\sum_{i=1}^N m_i q_i = 0 \tag{3.3}$$

Then we have

**THEOREM 3.1.** *The inverse transformations of Jacobi's coordinates are:*

$$\begin{aligned}
 q_N &= \frac{M_{N-1}}{M_N} x_{N-1} \\
 q_{N-1} &= \frac{M_{N-2}}{M_{N-1}} x_{N-2} - \frac{m_N}{M_N} x_{N-1} \\
 q_{N-2} &= \frac{M_{N-3}}{M_{N-2}} x_{N-3} - \frac{m_{N-1}}{M_{N-1}} x_{N-2} - \frac{m_N}{M_N} x_{N-1} \\
 &\dots \\
 q_{N-i} &= \frac{M_{N-i-1}}{M_{N-i}} x_{N-i-1} - \sum_{j=N-i+1}^N \frac{m_j}{M_j} x_{j-1}, \quad i \neq N-1,
 \end{aligned} \tag{3.4}$$

When  $i = N-1$ ,

$$q_1 = - \sum_{j=2}^N \frac{m_j}{M_j} x_{j-1} \tag{3.5}$$

THEOREM 3.2.. Under the Jacobi's Coordinates,  $I$ ,  $K$  and  $C$  have the following representations:

$$I = \frac{1}{2} \sum_{i=1}^N m_i |q_i|^2 = \frac{1}{2} \sum_{j=1}^{N-1} \frac{m_{j+1} M_j}{M_{j+1}} x_j^2 \equiv \tilde{I}(x) \quad (3.6)$$

$$K = \frac{1}{2} \sum_{j=1}^N m_j |\dot{q}_j|^2 = \frac{1}{2} \sum_{j=1}^{N-1} \frac{m_{j+1} M_j}{M_{j+1}} \dot{x}_j^2 \equiv \tilde{K}(\dot{x}) \quad (3.7)$$

$$C = \sum_{i=1}^N m_i \dot{q}_i \times q_i = \sum_{j=1}^{N-1} \frac{m_{j+1} M_j}{M_{j+1}} \dot{x}_j \times x_j \equiv \tilde{C} \quad (3.8)$$

By Theorem 3.2 and similar proof of Lemma 2.2 we have

THEOREM 3.3. The Sundman's inequality

$$\tilde{C}^2 \leq 4 \tilde{I} \cdot \tilde{K} \quad (3.9)$$

takes the equality if and only if there hold the following conditions:

(1°)  $x_1 \times \dot{x}_1, \dots, x_{N-1} \times \dot{x}_{N-1}$  are parallel to each other and have the same direction.

(2°)  $x_i \cdot \dot{x}_i = 0, i = 1, \dots, N - 1.$

(3°)  $\dot{x}_i = \lambda_i(t) \cdot x_i(t), \quad \lambda_i(t) \geq 0$  or  $\lambda_i \leq 0, i = 1, \dots, N - 1.$

Using the Theorem 2.2 and Lemma 2.1 and the similar proof of Lemma 2.8, we have

THEOREM 3.4. Sundman's inequalities:

$$\left( \frac{d \tilde{I}^{1/2}}{dt} \right)^2 \leq \tilde{K}(x) \quad (3.10)$$

$$\frac{2}{2 - \alpha} \tilde{I} + \frac{2\alpha}{2 - \alpha} (-h) - 2 \left( \frac{d \tilde{I}^{1/2}}{dt} \right)^2 \geq \frac{\tilde{C}^2}{2 \tilde{I}} \quad (3.11)$$

take equality, respectively, if and only if there hold

$$\dot{x}_i(t) = \lambda_i(t) x_i(t), \quad \lambda_i \geq 0 \text{ or } \lambda_i \leq 0 \quad i = 1, \dots, N - 1 \quad (3.12)$$

Similar to the Theorem 1.2, we have

THEOREM 3.5. If the relative motion  $x_i(t)$  of  $q_{i+1} (i = 1, \dots, N - 1)$  with respect to the mass center of the former  $i$  bodies satisfies (3.12), that is, in the Jacobi's relative coordinates, the  $N-1$  bodies with masses  $m_{j+1} M_j / M_{j+1} (j = 1, \dots, N - 1)$  always move on the straight lines toward the center of masses, then we have the relationship between  $\tilde{I}$  and  $h$ :

$$\ddot{\tilde{I}} - (2 - \alpha) \left( \frac{d \tilde{I}^{1/2}}{dt} \right)^2 - \alpha h = 0 \quad (3.13)$$

or

$$2 \tilde{r} \cdot \ddot{\tilde{r}} + \alpha \tilde{r}^2 - \alpha h = 0 \quad (3.14)$$

where

$$\tilde{r} = \tilde{I}^{1/2} \quad (3.15)$$

#### 4. The proofs of Theorem 1.1 and Theorem 1.2

Firstly we prove Theorem 1.1: By Lemma 2.1 and Lemma 2.2 we have

$$C^2 \leq 4I \left( \frac{1}{2-\alpha} \dot{I} - \frac{\alpha}{2-\alpha} h \right) \quad (4.1)$$

By the assumptions for the orbit  $q(t) = (q_1(t), \dots, q_N(t))$  of the N-body problems, we have that (2.2) and (4.1) take equalities and  $\dot{I} = 0$ , hence we have

$$C^2 = \frac{4\alpha}{2-\alpha} (-h)I \quad (4.2)$$

For  $q(t)$  we use (1.5) to get

$$|C| = \sum_{i=1}^N m_i |q_i| |\dot{q}_i| = \left( \sum_{i=1}^N m_i |q_i|^2 \right) \omega = 2I \cdot \omega = 2I \cdot \frac{2\pi}{T} \quad (4.3)$$

Hence by (4.2) and (4.3) we have

$$|C| = \frac{2\alpha}{2-\alpha} (-h) \omega^{-1} = \frac{\alpha}{2-\alpha} \frac{1}{\pi} (-h)T \quad (4.4)$$

For the proof of Theorem 1.2, we notice that for the motions on the straight lines toward the center of masses, we have  $\dot{q}_i(t) = \lambda_i(t)q_i(t)$ ,  $\lambda_i(t) \leq 0$  and the angular momentum  $C = 0$ , hence Theorem 1.2 follows from Lemma 2.8.

#### REFERENCES

- [1] ABRAHAM R. AND MARSDEN J., *Foundations of Mechanics*, 2nd ed., Benjamin/Cummings, London, 1978.
- [2] ARNOLD V., KOZLOV V. AND NEISHTADT A., *Dynamical Systems, III*, Springer, Berlin, Russian ed. 1985, English ed. 1988.
- [3] MEYER K. AND HALL G., *Introduction to Hamiltonian Systems and the N-body Problems*, Springer, Berlin, 1992.
- [4] POLLARD, H., *Mathematical Introduction to Celestial Mechanics*, Prentice Hall, Englewood Cliffs, NJ., 1976.
- [5] SIEGLE C. AND MOSER J., *Lectures on Celestial Mechanics*, Springer, Berlin, 1971.
- [6] SUNDMAN, K. F., *Mémoire sur le problème des trois corps*, Acta Math. **36** (1913), 105–179.

(Received April 22, 2000)

*Department of Mathematics*  
Chongqing University  
Chongqing 400044  
P. R. China